PFM Tutorial 5

4.4 

Perry, who has invested in rental property, has received his water usage bill. It was due on 30 June 2002. He hasn’t paid it yet and wonders when he can claim a deduction for this expense against his rental property.

Perry can claim the water usage cost against his rental income in the year ended 30 June 2002. The water usage expense has been incurred by Perry who has a liability to pay

4.5

Manus has bought a block of flats in need of renovation before they are rented out. Can Manus claim a deduction for this renovation expenditure?

· Repairs and maintenance, to the extent they are incurred to bring the property up to the condition it was in at the time of purchase, are deductible.

· Unfortunately in this instance the renovation expenses have improved the property beyond what it was at the time of purchase – this improvement is held to be capital in nature and therefore not deductible for the investor.

· It is possible to claim this as part of the cost for capital gains tax purposes.

· Manus should examine whether or not there is any potential for a capital works write off for the expenditure.

· He should also check the date of construction of the flats, as there may be an avenue for claiming a deduction for a write off of the capital costs of construction.

4.6

Susan has $200 000 to invest for a short term. She is considering the alternatives of investing in an AGC fixed-term deposit for 3 months at 6% p.a., maturing either 30 June 2002 or 1 July 2002. Identify the tax implications of the two alternative maturity dates. Which fixed-term deposit is preferable?

· If the deposit matures 30 June 2002, Susan will have earned the interest in the year ended June 2002.

· If the deposit matures 1 July 2003, she will have earned the income in the year ended June 2003. Susan must consider the income she will earn in these two years.

· She should position her interest income into the year of least income

· She should also consider the applicable tax rates in both of these two years

· If the tax rates are dropping, she should mature her fixed-term deposit in the year of the lowest tax rate.

· Finally, if she is earning the same in both years and the rates of tax are the same in both years, she should position her income in as late a year as possible so she will be delaying the tax effect for up to a year.

4.7

Warren could opt to take his $80 000 cash salary in the form of $20 000 employer superannuation contributions, $5000 in fringe benefits and $55 000 in cash. Assume the fringe benefits are not taxable. What is the tax saving of this salary packaging? Are there any other considerations apart from income tax?




With package

Without Package

Salary


$55 000

$80 000

Superannuation
$20 000

-

Fringe benefits
$5 000


-

These fringe benefits are not subject to FBT. Either they are exempt or would have been deductible if the expense of the fringe benefit had been incurred by the employee (otherwise deductible).




With package

Without package

Tax payable by
$13 480

$24 890

Exployee

Tax payable by super
$3 000


-

Fund (15%)

The conclusion in terms of the employee is that the after-tax benefits of the two packages are $80 000 benefits less $16 480 for the package compared with $80 000 cash less $24 980 when there is no package. The overall tax saving of package is $8500.

Other considerations are:

· With superannuation, the investment is not accessible to the employee until retirement some time after age 55 or later. The age of the employee and the need for disposable income determines the attractiveness of superannuation.

· Are the fringe benefits sometime that the employee would acquire otherwise?

· The Medicare levy will be $375 less with the package 0.015 x ($80 000 - $55 000)

Superannuation and fringe benefits, which attract little or no fringe benefits tax, are most likely to be the most attractive form of salary packaging.

Professional Advice – Salary packaging a car

1. Identify all the strategies proposed for maximising the benefits of salary packaging a car.

Understand that the greater the cost of the car, the greater the expense to the salary package and the lower the salary.

Ways to maximise the value of the salary package by minimising the car cost component are to:

· package a less expensive model

· package a secondhand car

· keep the same car when changing jobs (possible where the employer uses novated leases)

· negotiate with the employer to take over the expenses of an existing car

· overlay these options with additional benefits, such as when another family member (or company or trust) owns the car, be it new or secondhand, and lease it to the employer or employee with the employer providing the running costs.

2. What are the potential constraints on implementing the above strategies?

· When the position of the employee necessitates a car of a certain status or model, then consider a secondhand option to lower costs.

· There is no option available to take the car from the previous employer.

· There is no existing family car

· There is no family member, trust or company available to supply the car to the employee

· The finance companies may refuse to finance a car greater than five years old.

· The employee needs to be on the highest marginal rate for the car package to be cost effective

· Implementation of these strategies needs the cooperation and/or flexibility of the employer.

Finally, when considering whether or not to include a car in a salary package, remember to incorporate into the calculation that if the employee uses his or his car on business and/or to earn assessable income, then a proportion of the cost of the car’s operation is deductible to the employee against his or her assessable income. The benefit of this should be reflected in the lowering of the cost of not packaging the car. This reduces the attractiveness of salary packaging the car.

